Efficiency vs dr

1.2

m -
q -
[
2 L
> 1-
[3) L
c L
@
S L
£ 0.8
(0]
0.6~
0.4
0.2
o - R
= I | —— DQM_Vv0001_R000000001__Global _mkFit_ CANDFINAL100stable
x 1'___ —— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable3
0.95L M| ”ﬂ]‘”ﬂ”‘m}l H
10*2 —1

[ Efficiency vs dr (track,jet) |

1
TP min AR

§ 0.2
0 0.18F
£ E
o

T 0.16F
©0.14F
3 C
©0.12F
0.1
0.08F
0.06F
0.04F

0.02F

efticie

[y

Efficiency vs pu

0.8

1072

1
AR(TP, jét)

-1

0.7

0.6

efficiency vs PU

0.5

0.4

0.3

0.2

0.1

................................................

Ratio

=
T

0.95
2




	Contents
	Page 1


